CHAPTER 1

THE INVESTMENT SETTING
TRUE/FALSE QUESTIONS
(t)
1
The rate of exchange between certain future dollars and certain current dollars is known as the pure rate of interest.

(t)
2
An investment is the current commitment of dollars over time to derive future payments to compensate the investor for the time funds are committed, the expected rate of inflation and the uncertainty of future payments.

(f)
3
The holding period return (HPR) is equal to the holding period yield (HPY) stated as a percentage.

(f)
4
The geometric mean of a series of returns is always larger than the arithmetic mean and the difference increases with the volatility of the series.

(f)
5
The expected return is the average of all possible returns.

(f)
6
Two measures of the risk premium are the standard deviation and the variance.

(f)
7
The variance of expected returns is equal to the square root of the expected returns.

(f)
8
The coefficient of variation is the expected return divided by the standard deviation of the expected return.

(f)
9
Nominal rates are averages of all possible real rates.

(f)
10
The risk premium is a function of the volatility of operating earnings, sales volatility and inflation.

MULTIPLE CHOICE QUESTIONS
(a)
1
The basic trade-off in the investment process is

a) between the anticipated rate of return for a given investment instrument and its degree of risk.

b) between understanding the nature of a particular investment and having the opportunity to purchase it.

c) between high returns available on single instruments and the diversification of instruments into a portfolio.

d) between the desired level of investment and possessing the resources necessary to carry it out.

e) None of the above.

(c)
2
The rate of exchange between future consumption and current consumption is

a) The nominal risk-free rate.

b) The coefficient of investment exchange.

c) The pure rate of interest.

d) The consumption/investment paradigm.

e) The expected rate of return.

(c)
3
The _________ the variance of returns, everything else remaining constant, the _________the dispersion of expectations and the_________ the risk.

a) Larger, greater, lower

b) Larger, smaller, higher

c) Larger, greater, higher

d) Smaller, greater, lower

e) Smaller, greater, greater

(d)
4
The coefficient of variation is a measure of

a) Central tendency.

b) Absolute variability.

c) Absolute dispersion.

d) Relative variability.

e) Relative return.

(e)
5

The nominal risk free rate of interest is a function of

a) The real risk free rate and the investment's variance.

b) The prime rate and the rate of inflation.

c) The T-bill rate plus the inflation rate.

d) The tax free rate plus the rate of inflation.

e) The real risk free rate and the rate of inflation.

(c)
6
In the phrase "nominal risk free rate," nominal means

a) Computed.

b) Historical.

c) Market.

d) Average.

e) Risk adverse.

(c)
7
If a significant change is noted in the yield of a T-bill, the change is most likely attributable to

a) A downturn in the economy.

b) A static economy.

c) A change in the expected rate of inflation.

d) A change in the real rate of interest.

e) A change in risk aversion.

(e)
8
The real risk-free rate is affected by a two factors; 

a) The relative ease or tightness in capital markets and the expected rate of inflation.

b) The expected rate of inflation and the set of investment opportunities available in the economy.

c) The relative ease or tightness in capital markets and the set of investment opportunities available in the economy.

d) Time preference for income consumption and the relative ease or tightness in capital markets.

e) Time preference for income consumption and the set of investment opportunities available in the economy.

(e)
9
Which of the following is not a component of the risk premium?

a) Business risk

b) Financial risk

c) Liquidity risk

d) Exchange rate risk

e) Unsystematic market risk

(b)
10
The ability to sell an asset quickly at a fair price is associated with

a) Business risk.

b) Liquidity risk.

c) Exchange rate risk.

d) Financial risk.

e) Market risk.

(a)
11
The variability of operating earnings is associated with

a) Business risk.

b) Liquidity risk.

c) Exchange rate risk.

d) Financial risk.

e) Market risk.

(d)
12
The uncertainty of investment returns associated with how a firm finances its investments is known as

a) Business risk.

b) Liquidity risk.

c) Exchange rate risk.

d) Financial risk.

e) Market risk.

(c)
13
What will happen to the security market line (SML) if the following events occur, other things constant: (1) inflation expectations increase, and (2) investors become more risk averse?

a)
Shift up and keep the same slope

b)
Shift up and have less slope

c)
Shift up and have a steeper slope

d)
Shift down and keep the same slope

e) Shift down and have less slope

(d) 14

A decrease in the market risk premium, all other things constant, will cause the security market line to

a) Shift up

b) Shift down

c) Have a steeper slope

d) Have a flatter slope

e) Remain unchanged

(b) 15

A decrease in the expected real growth in the economy, all other things constant, will cause the security market line to

a) Shift up

b) Shift down

c) Have a steeper slope

d) Have a flatter slope

e) Remain unchanged

(b) 16

Unsystematic risk refers to risk that is

a) Undiversifiable

b) Diversifiable

c) Due to fundamental risk factors

d) Due to market risk

e) None of the above

(c) 17

The security market line (SML) graphs the expected relationship between 

a) Business risk and financial risk

b) Systematic risk and unsystematic risk

c) Risk and return

d) Systematic risk and unsystematic return

e) None of the above

(a)
18
Two factors that influence the nominal risk-free rate are; 

a) The relative ease or tightness in capital markets and the expected rate of inflation.

b) The expected rate of inflation and the set of investment opportunities available in the economy.

c) The relative ease or tightness in capital markets and the set of investment opportunities available in the economy.

d) Time preference for income consumption and the relative ease or tightness in capital markets.

e) Time preference for income consumption and the set of investment opportunities available in the economy.
(d) 19

Measures of risk for an investment include

a) Variance of returns and business risk

b) Coefficient of variation of returns and financial risk

c) Business risk and financial risk

d) Variance of returns and coefficient of variation of returns

e) All of the above

(c) 20

Sources of risk for an investment include

a) Variance of returns and business risk

b) Coefficient of variation of returns and financial risk

c) Business risk and financial risk

d) Variance of returns and coefficient of variation of returns

e) All of the above
MULTIPLE CHOICE PROBLEMS

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

Assume you bought 100 shares of NewTech common stock on January 15, 2003 at $50.00 per share and sold it on January 15, 2004 for $40.00 per share.

(d)
1
What was your holding period return?

a) -10%

b) -0.8

c) 25%

d) 0.8

e) -20%

(e)
2
What was your holding period yield?

a) -10%

b) -0.8

c) 25%

d) 0.8

e) -20%

USE THE FOLLOWING INFORMATION OR THE NEXT TWO PROBLEMS

Suppose you bought a GM corporate bond on January 25, 2001 for $750, on January 25, 2004 sold it for $650.00.

(d)
3
What was your annual holding period return?

a) 0.8667

b) -0.1333

c) 0.0333

d) 0.9534

e) -0.0466

(a)
4
What was your annual holding period yield?

a) -0.0466

b) -0.1333

c) 0.0333

d) 0.3534

e) 0.8667

USE THE FOLLOWING INFORMATION FOR THE NEXT FOUR PROBLEMS

The common stock of XMen Inc. had the following historic prices.


Time
Price of X-Tech

3/01/1999
50.00

3/01/2000
47.00

3/01/2001
76.00

3/01/2002
80.00

3/01/2003
85.00

3/01/2004
90.00

(b)
5
What was your holding period return for the time period 3/1/1999 to 3/1/2004?

a) 0.1247

b) 1.8

c) 0.1462

d) 0.40

e) 0.25

(b)
6
What was your annual holding period yield (Annual HPY)?

a) 0.1462

b) 0.1247

c) 1.8

d) 0.40

e) 0.25

(a)
7
What was your arithmetic mean annual yield for the investment in XMen Industries.

a) 0.1462

b) 0.1247

c) 1.8

d) 0.40

e) 0.25

(d)
8
What was your geometric mean annual yield for the investment in XMen?

a) 0.25

b) 0.40

c) 1.8

d) 0.1247

e) 0.1462

USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS

You have concluded that next year the following relationships are possible:

Economic Status
Probability
Rate of Return
Weak Economy
.15
-5%

Static Economy
.60
5%

Strong Economy
.25
15%

(b)
9
What is your expected rate of return [E(Ri)] for next year?

a) 4.25%

b) 6.00%

c) 6.25%

d) 7.75%

e) 8.00%

(d)
10
Compute the standard deviation of the rate of return for the one year period.

a) 0.65%

b) 1.45%

c) 4.0%

d) 6.25%

e) 6.4%

(e)
11
Compute the coefficient of variation for your portfolio.

a) 0.043

b) 0.12

c) 1.40

d) 0.69

e) 1.04

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

Assume that during the past year the consumer price index increased by 1.5 percent and the securities listed below returned the following nominal rates of return.




U.S. Government T-bills
2.75%




U.S. Long-term bonds

4.75%

(d)
12
What are the real rates of return for each of these securities?

a) 4.29% and 6.32%

b) 1.23% and 4.29%

c) 3.20% and 6.32%

d) 1.23% and 3.20%

e) 3.75% and 5.75%

(c)
13
If next year the real rates all rise by 10 percent while inflation climbs from 1.5 percent to 2.5 percent, what will be the nominal rate of return on each security?

a) 1.24% and 1.52%

b) 1.35% and 3.52%

c) 3.89% and 6.11%

d) 3.52% and 3.89%

e) 1.17% and 6.11%

(c)
14
If over the past 20 years the annual returns on the S&P 500 market index averaged 12% with a standard deviation of 18%, what was the coefficient of variation?

a) 0.6

b) 0.6%

c) 1.5

d) 1.5%

e) 0.66%

(d)
15
Given investments A and B with the following risk return characteristics, which one would you prefer and why? 




Standard Deviation

Investment
Expected Return
of Expected Returns



      A 
12.2%
7%



      B
8.8%
5%

a) Investment A because it has the highest expected return.

b) Investment A because it has the lowest relative risk.

c) Investment B because it has the lowest absolute risk.

d) Investment B because it has the lowest coefficient of variation.

e) Investment A because it has the highest coefficient of variation.

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

You are provided with the following information

Nominal return on risk-free asset = 4.5%

Expected return for asset i = 12.75%

Expected return on the market portfolio = 9.25%

(b) 16
Calculate the risk premium for asset i

a) 4.5%

b) 8.25%

c) 4.75%

d) 3.5%

e) None of the above

(c) 17
Calculate the risk premium for the market portfolio

a) 4.5%

b) 8.25%

c) 4.75%

d) 3.5%

e) None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT FOUR PROBLEMS

Consider the following information

Nominal annual return on U.S. government T-bills for year 2000 = 3.5%

Nominal annual return on U.S government long-term bonds for year 2000 = 4.75%

Nominal annual return on U.S. large-cap stocks for year 2000= 8.75%

Consumer price index January 1, 2000 = 165

Consumer price index December 31, 2000 = 169

(a) 18
Compute the rate of inflation for the year 2000

a) 2.42%

b) 4.0%

c) 1.69%

d) 1.24%

e) None of the above

(d) 19
Calculate the real rate of return for U.S. T-bills

a) 2.26%

b) 1.81%

c) –0.5%

d) 1.05%

e) None of the above

(b) 20
Calculate the real rate of return for U.S. long-term bonds

a) 3.06%

b) 2.27%

c) 2.51%

d) 3.5%

e) None of the above


(b) 21
Calculate the real rate of return for U.S. large-cap stocks

a) 7.06%

b) 6.18%

c) 4.75%

d) 3.75%

e) None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT FOUR PROBLEMS

Assume that you hold a two stock portfolio. You are provided with the following information on your holdings

	Stock
	Shares
	Price(t)
	Price(t+1)

	1
	15
	10
	12

	2
	25
	15
	16


(b) 22
Calculate the HPY for stock 1

a) 10%

b) 20%

c) 15%

d) 12%

e) 7%

(c) 23
Calculate the HPY for stock 2

a) 5%

b) 6%

c) 7%

d) 8%

e) 10%

(d) 24
Calculate the market weights for stock 1 and 2 based on period t values

a) 39% for stock 1 and 61% for stock 2

b) 50% for stock 1 and 50% for stock 2

c) 71% for stock 1 and 29% for stock 2

d) 29% for stock 1 and 71% for stock 2

e) None of the above

(a) 25
Calculate the HPY for the portfolio

a) 10.6%

b) 6.95%

c) 13.5%

d) 10%

e) 15.7%

CHAPTER 1

ANSWERS TO PROBLEMS

1

HPR =  Ending Value / Beginning Value = 40/50 = 0.8

2

HPY = HPR - 1 = (40/50) – 1 = 0.8 - 1 = -0.2 = -20%

3

HPR = Ending Value/Beginning Value = $650.00/$750 = 0.8667



Annual HPR = (HPR)1/n  =  (0.8667)1/3 = 0.9534  

4

HPR = Ending Value/Beginning Value = $650.00/$750 = 0.8667



Annual HPR = (HPR)1/n  =  (0.8667)1/3 = 0.9534



Annual HPY = Annual HPR - 1 = 0.9534 - 1 = -0.0466  =  -4.66%

5

HPR = Ending Value/Beginning Value = 90/50 = 1.8

6

Annual HPR = (HPR)1/n  =  (1.8)1/5  = 1.1247



Annual HPY = Annual HPR - 1 = 1.1247 - 1 = 0.1247 = 12.47%

	Time
	Price of X-Tech
	Return
	HPR

	3/01/1999
	50
	
	

	3/01/2000
	47
	-0.0600
	0.9400

	3/01/2001
	76
	0.6170
	1.6170

	3/01/2002
	80
	0.0526
	1.0526

	3/01/2003
	85
	0.0625
	1.0625

	3/01/2004
	90
	0.0588
	1.0588


7

Arithmetic Mean = 
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Geometric Mean
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9

E(Ri) = (0.15)(- 5) + (0.60)(5) + (0.25)(15) = 6%

10

( = [(0.15)(-5 - 6)2 + (0.60)(5 - 6)2 + (0.25)(15 - 6)2]1/2 = 6.25%

11

CV = Standard Deviation of Returns/Expected Rate of Return



      = 6.25/6 = 1.04

12

Real rate on T-bills = (1.0275 / 1.015) - 1 = 0.0123 = 1.23%



Real rate on bonds = (1.0475 /1.015) - 1 = 0.032 = 3.2%

13

The computations for the new real rates are:



Real rate on T-bills = 1.23 x 1.10 = 1.353%



Real rate on bonds = 3.2 x 1.10 = 3.52%



Nominal rate on T-bills = (1.01353)(1.025) - 1 = .03886 = 3.89%



Nominal rate on corporate bonds = (1.0352)(1.025) - 1 = .06108 = 6.11%

14

Coefficient of Variation = Standard Deviation of Returns/Expected Rate of Return






   = 18% / 12% = 1.5

15


Coefficient of Variation = Standard Deviation of Returns/Expected Rate of Return


CVA = 7% / 12.2% = 0.573


CVB = 5% / 8.8% = 0.568


Investment B has the lowest coefficient of variation and would be preferred.

16.
Risk premium for asset i = 12.75 – 4.5 =  8.25%

17.
Risk premium market portfolio = 9.25 – 4.5 =  4.75%

18.
Rate of inflation = (169/165) – 1 = .0242 = 2.42%

19.
Real return on U.S. T-bills = (1.035/1.0242) – 1 = .0105 = 1.05% 

20.
Real return on U.S. bonds = (1.0475/1.0242) – 1 = .0227 = 2.27%

21.
Real return on U.S. stocks = (1.0875/1.0242) – 1 = .0618 = 6.18%

The table provided below can be used to obtain answers for 22 to 25.

	Stock
	Shares
	Price(t)
	MV(t)
	Price(t+1)
	MV(t+1)
	HPR
	HPY
	Weight
	Weighted

HPY

	1
	15
	10
	150
	12
	180
	1.2
	0.2
	0.29
	0.058

	2
	25
	15
	375
	16
	400
	1.07
	0.07
	0.71
	0.048

	
	
	
	525
	
	580
	
	
	
	0.106


22.
HPY for stock 1 = (180/150) – 1 = .2 = 20%


23.
HPY for stock 2 = (400/375) – 1 = .07 = 7%

24.
Market weight for stock 1 = 150/525 = .29 = 29%


Market weight for stock 2 = 375/525 = .71 = 71%

25.
Portfolio HPY = .29(.20) + .71(.07) = .106 = 10.6%


CHAPTER 1 - APPENDIX 

MULTIPLE CHOICE PROBLEMS

USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS

Your expectations from a one year investment in Wang Computers is as follows:



Probability

Rate of Return



.15
-.10




.15
-.20




.35
.00




.25
.15




.10
.15

(d)
1A
The expected return from this investment is



a)
-0.0752



b)
-0.0040



c)
 0.00



d)
 0.0075



e)
 0.4545

(c)
2A
The standard deviation of your expected return from this investment is



a)
0.001



b)
0.004



c)
0.124



d)
1.240



e)
None of the above

(d)
3A
The coefficient of variation of this investment is



a)
-0.06



b)
-0.65



c)
6.60



d)
16.53



e)
165.10

CHAPTER 1 - APPENDIX 

ANSWERS TO PROBLEMS

1A

E(R)  = (-0.10)(0.15) + (-0.20)(0.15) + (0.00)(0.35) + (0.15)(0.25) + (0.15)(0.10)           =  0.0075

2A

(2 = (0.15)(-0.1-0.0075)2 + (0.15)(-0.2-0.0075)2 + (0.35)(.00-0.0075)2 + 

                                               (0.25)(0.15-0.0075)2 + (0.10)(0.15 - 0.0075)2 



    = 0.015319



( ( = 0.0153191/2  = 0.124

3A

The coefficient of variation (CV) equals 0.124 / 0.0075 = 16.53
CHAPTER 2

THE ASSET ALLOCATION DECISION
TRUE/FALSE QUESTIONS

(t)
1
Experts suggest life insurance coverage should be seven to ten times an individual's annual salary.

(f)
2
Term life insurance provides both a death benefit and a savings plan.

(f)
3
Most experts recommend a cash reserve of at least one year's worth of living expenses.

(f)
4
The spending phase occurs when investors are relatively young.

(t)
5
The gifting phase is similar to, and may be concurrent with, the spending phase.

(t)
6
Long-term, high-priority goals include some form of financial independence.

(f)
7
It is not a good idea to get too specific when constructing your policy statement.

 (t)
8
Asset allocation is the process of dividing funds into different classes of assets.

(f)
9
The typical investor's goals rarely change during his/her lifetime.

(f)
10
Individual security selection is far more important than the asset allocation decision.

(f)
11
Return is the only important consideration when establishing investment objectives.

(f)
12
In constructing the portfolio, the manager should maximize the investor's risk level.

(f)
13
Risk tolerance is exclusively a function of an individual’s psychological makeup.

(f)
14
An appropriate investment objective for a typical 25-year-old investor is a low-risk strategy, such as capital preservation or current income.

(t)
15
Investment planning is complicated by the tax code.

(t)
16
Average tax rate is defined as total tax payment divided by total income.

(f)
17
The regular IRA, when compared to the Roth IRA, will consistently give an investor more after tax dollars at the end of an assumed 20-year time horizon.

(f)
18
The portfolio mixes of institutional investors around the world are approximately the same.

MULTIPLE CHOICE QUESTIONS
(e)
1
The current outlay of money to guard against a potentially large future loss is commonly known as

a) Asset management.

b) Portfolio management.

c) Minimizing risk.

d) Loss control.

e) Insurance.

(a)   2   
In an investment policy statement the objectives of an investor are expressed in



terms of              

a) risk and return

b) risk

c) return

d) time horizon

e) liquidity needs

(a)
3
____________ phrase is the stage when investors in their early-to-middle earning years attempt to accumulate assets to satisfy near-term needs, e.g., children's education or down payment on a home.

a) Accumulation

b) Spending 

c) Gifting 

d) Consolidation 

e) Divestiture 

(a)
4
Which of the following is not a life cycle phase?



a)
Discovery phase



b)
Accumulation phase



c)
Consolidation phase



d)
Spending phase



e)
Gifting phase 

(e)
5
Which of the following is not a step in the portfolio management process?



a)
Develop a policy statement.



b)
Study current financial and economic conditions.



c)
Construct the portfolio.



d)
Monitor investor's needs and market conditions.



e)
Sell all assets and reinvestment proceeds at least once a year.

(b)
6
The first step in the investment process is the development of a(n) 



a)
Objective statement.



b)
Policy statement.



c)
Financial statement.



d)
Statement of cash needs.

e) Statement of cash flows.

(e)
7
Which of the following is not considered to be an investment objective?



a)
Capital preservation



b)
Capital appreciation



c)
Current income



d)
Total return



e)
None of the above (that is, all are considered investment objectives)

(d)
8


 must be stated in terms of expected returns and risk.  An investor's tolerance for risk must be established before returns objectives can be stated.



a)
Investment requirements



b)
Investment constraints



c)
Investment rewards



d)
Investment objectives

e) Investment policy

(b)
9
_______________ is an appropriate objective for investors who want their portfolio to grow in real terms, i.e., exceed the rate of inflation.



a)
Capital preservation



b)
Capital appreciation



c)
Portfolio growth



d)
Value additivity



e)
Nominal preservation

(a)
10
___________ refer(s) to the ability to convert assets to cash quickly and at a fair market price and often increase(s) as one approaches the later stages of the investment life cycle.



a)
Liquidity needs



b)
Time horizons



c)
Liquidation values



d)
Liquidation essentials

e) Capital liquidations 

(b)
11
The policy statement may include a __________ against which a portfolio's or portfolio manager's performance can be measured.



a)
Milestone



b)
Benchmark



c)
Landmark



d)
Reference point

e) Market pair

(e)
12
Asset allocation is



a)
The process of dividing funds into asset classes.



b)
Concerned with returns variability.



c)
Concerned with the risk associated with different assets.



d)
Concerned with the relationship among investments’ returns.

e) All of the above.

(e)
13
The asset allocation decision must involve a consideration of 



a)
Cultural differences.



b)
The objectives stated in the investor's policy statement.



c)
The types of assets that are appropriate for the investor.



d)
The risk associated with different investments.



e)
All of the above.

(e) 14

Research has shown that the asset allocation decision explains    % of thevariation



in fund returns across all funds, and    % of the variation in returns for a particular



fund over time.

a) 90 and 100.

b) 100 and 40.

c) 90 and 40.

d) 40 and 100.

e) 40 and 90.

(d)
15
Once the portfolio is constructed, it must be continuously



a)
Rebalanced.



b)
Recycled 



c)
Reinvested 



d)
Monitored.



e)
Manipulated.

 (a)
16
Which of the following statements is false?



a)
Unrealized capital gains are taxable.



b)
Realized capital gains are taxable.



c)
Tax-exempt investments are attractive to individuals with high tax liabilities.



d)
Returns comparisons should be made on an equivalent tax basis.



e)
Tax exempt investors prefer tax exempt investments.

(a)
17
____________ gains are taxable and occur when an asset is sold for more than its basis (the value of the asset when it was purchased by the original owner, or inherited by the heirs of the original owner).



a)
Realized capital



b)
Income 



c)
Portfolio 



d)
Nominal 



e)
Real

(d)
18
Which of the following statements is true?



a)
Except for tax-exempt investors and tax-deferred accounts, annual tax payments increase investment returns.



b)
The only way to maintain purchasing power over time is to invest in bonds.



c)
After adjusting for taxes, long-term bonds consistently outperform stocks.



d)
An asset allocation decision for a taxable portfolio that does not include a substantial commitment to common stocks may make it difficult for the portfolio to maintain real value over time.

e) None of the above

(d)   19   
Important reasons for constructing a policy statement include:

              
a)  Helps investors decide on realistic investment goals

             
b)  Create a standard by which to judge the performance of the portfolio manager

             
c)  Develop an instrument to judge risk

              
d)  Choices a and b

e) All of the above

(c)   20   
For an investor with a time horizon of 6 to 10 years and lower risk tolerance, an appropriate asset allocation strategy would be              

a) 100% stocks

b) 100% cash

c) 30% cash, 50% bonds, and 20% stocks

d) 10% cash, 30% bonds, and 60% stocks

e) 100% bonds

(d)   21   
For an investor with a time horizon of 6 to 10 years and higher risk tolerance, an appropriate asset allocation strategy would be              

a) 100% stocks

b) 100% cash

c) 30% cash, 50% bonds, and 20% stocks

d) 10% cash, 30% bonds, and 60% stocks

e) 100% bonds

MULTIPLE CHOICE PROBLEMS

Use the Tax Table provided below to answer the next four problems

	 
	If Taxable Income 
	 
	The Tax is
	 
	 

	 
	 
	 
	Then
	 
	 
	 

	 
	Is Over
	But Not Over
	 
	This Amount
	Plus This %
	Of The Excess Over

	Single
	$0
	$7,150
	
	0
	10%
	0

	 
	$7,150
	$29,050
	
	715
	15%
	$7,150

	 
	$29,050
	$70,350
	
	$4,000
	25%
	$29,050

	 
	$70,350
	$146,750
	
	$14,325
	28%
	$70,350

	 
	$146,750
	$319,100
	
	$35,717
	33%
	$146,750

	 
	$319,100
	-
	
	$92,592.50
	35%
	$319,100

	 
	
	
	
	
	
	 

	Married
	$0
	$14,300
	
	0
	10%
	0

	Filing
	$14,300
	$58,100
	
	1430
	15%
	$14,300

	Jointly
	$58,100
	$117,250
	
	$8,000
	25%
	$58,100

	 
	$117,250
	$178,650
	
	$22,787.50
	28%
	$117,250

	 
	$178,650
	$319,100
	
	$39,979.50
	33%
	$178,650

	 
	$319,100
	-
	 
	$86,328
	35%
	$319,100


(c)
1
What is the marginal tax rate for a single individual with taxable income of $85,000?

a) 15%

b) 25%

c) 28%

d) 33%

e) 35%

(b) 2
What is the tax liability for a single individual with taxable income of $85,000?

a) $23,800

b) $18,427

c) $24,958

d) $16,867

e) $19,650
(c) 3
What is the average tax for a single individual with taxable income of $85,000?

a) 13.57%

b) 15.68%

c) 21.68%

d) 25.74%

e) 29.55%

(c) 4
What is the tax liability for a married couple filing jointly with taxable income of $125,000?

a) $23,800

b) $18,427

c) $24,958

d) $16,867

e) $19,650
(d)
5
What would the equivalent taxable yield be on an investment that offers a 6 percent tax exempt yield?  Assume a marginal tax rate of 28%.

a) 0.125%

b) 7.20%

c) 6.48%

d) 8.33%


e) 32.14%

(c)
6
What would the after-tax yield be on an investment that offers a 6 percent fully taxable yield?  Assume a marginal tax rate of 31%.

a) 2.79%

b) 6.48%

c) 4.14%

d) 7.20%

e) 12.50%

(a)   7

The future value of $50,000 invested today, at the end of 10 years assuming an



interest rate of 7.5% per year, with semiannual compounding, is               

a) $104,407.60

b) $103,051.58

c) $123,510.52

d) $210,673.43

e) $105,117.46

(b)   8

Assume that you invest $750 at the end of each quarter for the next 20 years in a



mutual fund. The annual rate of interest that you expect to earn in the this account



is 5.25%. The amount in the account at the end of 20 years is              

a) $60,000.00

b) $105,039.84

c) $37,009.35

d) $123,510.52

e) $115,637.37

(d)   9

Assume that you invest $1250 at the end of each of the next 15 years in a



mutual fund. You currently have $10,000 in the mutual fund. The annual rate of interest that you expect to earn in this account is 4.35%. The amount in the account at the end of 15 years is              

a) $58,940.30

b) $28,750.00

c) $37,009.35

d) $44,630.81

e) $25,690.50

(b)   10

Someone in the 15 percent tax bracket can earn 8 percent on his investments in a 



tax-exempt IRA account.  What will be the value of a $10,000 investment after 5 



years (assuming annual compounding)?

a) $ 6,805

b) $14,693

c) $15,528

d) $20,114

e) $50,000

(c)   11

Suppose the 8 percent investment of the previous problem is taxable rather than



tax-deferred.  What will be the after-tax value of his $10,000 investment after 5



years (assuming annual compounding)?

              
a)  $10,680

            
b)  $11,765

              
c)  $13,895

              
d)  $14,693

             
e)  $15,528

USE THE FOLLOWING INFORMATION FOR THE NEXT 4 PROBLEMS

As part of a retirement planning exercise, you are comparing a regular IRA with a Roth IRA. The regular IRA contribution is tax deductible. In both cases the contribution amount is $3,000. Your time horizon is 30 years and you expect to earn 7% percent per year on both types of IRA accounts. Your current tax rate is 25% but you expect you tax rate at retirement to be 15%. 

(b)
12
Calculate the tax savings generated by the regular IRA at the time of investment.

a) $300

b) $750
c) $700

d) $100

e) $200

(c)
13
Calculate the future value, at the end of 25 years, of the tax savings.

a) $2,900.51

b) $3,867.35

c) $3,481.16
d) $1,248.35

e) $4,369.23

(c)
14
Calculate the total after tax future value, at the end of 25 years, of the regular IRA 



contribution and the tax savings.

a) $22,836.77
b) $21,833.43

c) $22,892.41
d) $26,317.93
e) $19,411.25
(a)
15
Calculate the total after tax future value, at the end of 25 years, of the Roth IRA 



contribution.

a) $22,836.77
b) $21,833.43

c) $22,892.41
d) $26,317.93
e) $19,411.25
CHAPTER 2

ANSWERS TO PROBLEMS

1.

Marginal tax rate = 28%

2.

$14,325 + 0.28($85,000 - $70,350) = $18,427 (tax bill)

3.

$18,427/$85,000 = 21.68% (average tax rate)

4.

$22,787.50 + 0.28($125,000 -  $117,250) = $24,958

5.
 
Equivalent taxable yield = .06/(1 - .28) = .06/.72 = 8.33%

6.                  
After-tax yield = Before-tax yield (1 – Tax Rate)  = 6%(1 - .31) = 4.14%

7.

FV = 50,000(1 + .037520) = $104,407.60

8.

FV = 
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9.

FV = 
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15

+ 10,000(1 + .043515) = $44,630.81

10.

FV = 10,000(1 + .085) = $14,693

11.

After-tax yield = Before-tax yield ( 1 - Tax rate)

                       = 8% (1 - .15) = 6.8%

       

$10,000(1 + 0.0685) = $13,895
12.

Tax savings on regular IRA = (3000)(0.25) = $750.

13.

FV of tax savings = $750(1 + 0.0525)30 = $3,481.16


0.07(1 – 0.25) = 0.0525
14.

Pre tax FV of regular IRA contribution = 3000(1 + 0.07)30 = $22,836.77


After tax FV of regular IRA = $22,836.77(1 – 0.15) = $19,411.25 



FV of tax savings = 750(1 + 0.0525)30 = $3,481.16


Total after tax = $22,892.41
15. 

After tax FV of Roth IRA contribution = 3000(1 + 0.07)30 = $22,836.77

CHAPTER 2 - APPENDIX
TRUE/FALSE QUESTIONS

 (t)
1A
Non-life insurance companies have somewhat unpredictable cash outflows and are therefore faced with different investment constraints than life insurance companies.

(t)
2A
Many endowments are tax-exempt.

(f)
3A
Cash flows for nonlife insurance companies, such as property and casualty, are similar to cash flows of life insurance companies.

(t)
4A
Banks must compete for funds (savings deposits, CD's, etc.) in order to make loans and other types of investments.

(t)
5A
Banks have high liquidity needs and therefore, have a short time horizon.

(t)
6A
Banks face regulatory constraints at both the state and federal level.

MUTIPLE CHOICE QUESTIONS

(c)
1A
Which of the following is not true regarding defined contribution pension plans?



a)
Employees make regular contributions to the plan.



b)
Employers make regular contributions to the plan.



c)
The employer bears all of the investment risk.



d)
Benefits are directly related to the earnings of the funds investments.

e)
The number of defined contribution plans is increasing.

(e)
2A
In a defined contribution pension plan,



a)
The plan does not promise to pay the retiree a specific income stream after retirement.



b)
The plan does promise to pay the retiree a specific income stream after retirement.



c)
The employee's retirement income is not an obligation of the firm.


d)
The company carries the risk of paying future pension benefits to retirees.



e)
Choices a and c

(b)
3A
The retirement plan that promises to pay a specific benefit to its beneficiaries is



a)
A defined contribution plan.



b)
A defined benefit pension plan.



c)
A non-contribution pension plan.



d)
An actuarial pension plan.



e)
Supplemental Retirement Account (SRA).

(a)
4A
Endowment funds



a)
Are formed from the contributions to charitable and educational institutions.



b)
Are attractive investments for individuals with low liquidity needs.



c)
Usually have very short investment horizons.



d)
Provide retirement benefits for public employees.



e)
Provide death benefits for its contributor’s survivors.

(c)
5A



 are investment specialists that are responsible for managing the investments of others.  There are often legal standards against which they must abide in the performance of their duties.



a)
Underwriters



b)
Investments bankers



c)
Fiduciaries



d)
Account executives



e)
Trust officers

(d)
6A
Banks typically



a)
Have low liquidity needs.



b)
Face very few federal and state regulatory constraints.



c)
Don't have to compete for funds.



d)
Have high liquidity needs and a short time horizons constraint.

e) Low investment risk.

(d)
7A
Banks typically have short-term investment horizons because



a)
They have a strong need for liquidity.



b)
They offer short-term deposit accounts.



c)
They are required to by federal and state laws. 



d)
Choices a and b.

e) All of the above 

CHAPTER 3

SELECTING INVESTMENTS IN A GLOBAL MARKET
TRUE/FALSE QUESTIONS

(f)
1
The U.S. equity and bond markets have grown in terms of their relative size of the world equity and bond market.

(t)
2
Diversification with foreign securities can help reduce portfolio risk.

(f)
3
The total domestic return on German bonds is the return that would be experienced by an U.S. investor who owned German bonds.

(t)
4
If the exchange rate effect for Japanese bonds is negative, it means that the domestic rate of return will be greater than the U.S. dollar return.

(t)
5
A U.S. investor who ignores foreign markets reduces overall number of investment choices.

(f)
6
Treasury bills are long-term investments that make regular interest and principal payments.

(f)
7
A debenture is an option issued by a corporation that gives the holder the right to acquire common stock from the issuing firm at a specified price within a designated period of time.

(f)
8
Income bonds are considered as safe as debentures because they pay higher rates of interest.

 (f)
9
A Eurobond is an international bond denominated in a currency other than that of the United States.

(t)
10
Warrants are options often issued in connection with the sale of fixed income securities.

(f)
11
A call option is usually issued in conjunction with convertible bonds.

(f)
12
Yields on money market funds are often lower than yields available to individuals investing in CD's because of the fees involved.

(t)
13
Municipal bond nominal yields are generally below comparable taxable bond yields.

 (f)
14
REITS are investment companies that invest in high-quality money market instruments such as Treasury bills, high-grade commercial paper, and large CD’s.

(f)
15
It is very important when diversifying that the correlation between rates of return for various countries be high and very stable over time.

MULTIPLE CHOICE QUESTIONS

(b)
1
An investor who purchases a put option:

a) Has the right to buy a given stock at a specified price during a designated time period.

b) Has the right to sell a given stock at a specified price during a designated time period.

c) Has the obligation to buy a given stock at a specified price during a designated time period.

d) Has the obligation to sell a given stock at a specified price during a designated time period.

e) None of the above.

(d)
2
If you are considering investing in German stocks as a means to reduce the risk of your portfolio, the initial factor that you should examine is:



a)
The average rate of return of the portfolio when you combine U.S. and German stocks.



b)
The standard deviation of the German stocks.



c)
The standard deviation of the German stocks compared to the standard deviation of U.S. stocks.



d)
The correlation between the rates of return for German stocks and U.S. stocks.

e) The coefficient of variation (CV) of rates of return for German stocks versus the CV of rates of return for U.S. stocks.


(d)
3
All of the following are considered fixed income investments except


a)
Corporate bonds.



b)
Preferred stock.



c)
Treasury bills, notes, and bonds.



d)
Money market mutual funds.



e)
Certificates of deposit (CDs).

(b)
4
Capital market instruments include all of the following except


a)
U.S. Treasury notes and bonds.



b)
U.S Treasury bills.



c)
U.S. government agency securities.



d)
Municipal bonds.

e) Corporate bonds.

(d)
5
The original maturity of a United States Treasury note is



a)
Zero years to five years.



b)
Six months to ten years.



c)
One year or less.



d)
One year to ten years.



e)
Over ten years.

(c)
6
The original maturity of a United States Treasury bill is



a)
Zero years to five years.



b)
Six months to ten years.



c)
One year or less.



d)
One year to ten years.



e)
Over ten years.

(e)
7
The original maturity of a United States Treasury bond is



a)
Zero years to five years.



b)
Six months to ten years.



c)
One year or less.



d)
One year to ten years.



e)
Over ten years.

(d)
8
Which of the following is not an U.S. government agency?



a)
Federal National Mortgage Association



b)
Federal Home Loan Bank



c)
Government National Mortgage Association



d)
Government Employees Insurance Company



e)
Federal Housing Administration

(c)
9
The legal document setting forth the obligations of a bond's issuer is called



a)
A debenture.



b)
A warrant.



c)
An indenture.



d)
The preemptive right.

e) A trustee deed.

(d)
10
All of the following are considered fixed income securities except


a)
Debentures.



b)
Eurobonds.



c)
Preferred stock.



d)
Mutual funds.



e)
Yankee bonds.

(b)
11
The purchase and sale of commodities for current delivery and consumption is known as dealing in the _________ market.



a)
Futures



b)
Spot



c)
Money



d)
Capital



e)
Options

(a)
12
An investor who purchases a call option:

a) Has the right to buy a given stock at a specified price during a designated time period.

b) Has the right to sell a given stock at a specified price during a designated time period.

c) Has the obligation to buy a given stock at a specified price during a designated time period.

d) Has the obligation to sell a given stock at a specified price during a designated time period.

e) None of the above.

(d)
13
If this year is consistent with historical trends you would expect the return for small capitalization stocks to be



a)
Below common stocks and above long-term government bonds.



b)
Below common stocks and below long-term government bonds.



c)
Above last year’s return on the same stocks.



d)
Above common stock, long-term government, and corporate bonds.



e)
The least variable among long-term bonds and common stocks.

(b)
14
The correlation between U.S. equities and U.S. government bonds is



a)
Strongly positive.



b)
Weakly Positive.



c)
Strongly Negative.



d)
Weakly Negative.



e)
Indeterminate.

(c)
15
The best way to directly acquire the shares of a foreign company is through



a)
International mutual funds.



b)
Global mutual funds.



c)
American Depository Receipts.



d)
Investment in U.S. companies operating internationally.



e)
Eurobonds.

(e)
16
Which of the following would be considered a low liquidity investment?



a)
Warrants



b)
Call options



c)
Zero coupon bonds



d)
Balanced mutual funds



e)
Diamonds

(b)
17
An agreement that provides for the future delivery or receipt of an asset at a specified date for a specified price is a



a)
Eurobonds contract.



b)
Futures contract.



c)
Put option contract.



d)
Call option contract.

e) Warrant contract.

(e)
18
Which of the following is not a type of investment company?



a)
Money market funds



b)
Common stock funds



c)
Balanced funds



d)
Bond funds



e)
None of the above

(e)
19
Antiques, art, coins, stamps, jewelry, etc., are not included in the investment portfolios of financial institutions because



a)
Prices vary substantially.



b)
Transaction costs are relatively high.



c)
They are illiquid.



d)
None of the above.



e)
All of the above.

(e)
20
Rank the following four investments in increasing order of historical risk.



a)
Art, T-bills, corporate bonds, and common stock



b)
T-bills, common stock, corporate bonds, art



c)
Corporate bonds, T-bills, common stock, art



d)
Common stock, corporate bonds, T-bills, art



e)
T-bills, corporate bonds, common stock, art

(c)
21
An ETF(exchange traded fund):

a) Is priced once a day at the opening of trading.

b) Is priced once a day at the close of trading.

c) Is priced continuously during the trading day.

d) Is priced at the open and close of trading.

e) None of the above.

(b)
22
A statistic that that measures how two variables tend to move together is the

a) Coefficient of variation

b) Correlation coefficient

c) Standard deviation

d) Mean

e) Variance

(c)
23

Which of the following statements concerning historical investment risk and return is false?


a)
The geometric mean of the rates of return was always lower than the arithmetic mean of the rates of return.


b)
The rates of return on long-term U.S. government bonds were lower than on stocks.


c)
Real estate investments consistently provide higher rates of return than those provided by common stock.


d)
Stocks and bonds experienced results in the middle of the art and antiques series.


e).
none of the above (that is, all are true statements)

(d) 24
Which of the following are reasons that U.S. investors should consider foreign markets when constructing global portfolios.

a) Ignoring foreign markets reduced their choices of investment opportunities.

b) Foreign markets have low correlations with U.S. markets.

c) Returns on non-U.S. stocks can substantially exceed returns for U.S securities.

d) All of the above.

e) None of the above.

(b)
25
A mutual fund:

a) Is priced once a day at the opening of trading.

b) Is priced once a day at the close of trading.

c) Is priced continuously during the trading day.

d) Is priced at the open and close of trading.

e) None of the above.

(c)  26

For a U.S. based investor, a weaker dollar means that overall dollar based returns on overseas security investment will be higher because

a) A weaker dollar means that exports will rise.

b) A weaker dollar means that more foreign investors will by U.S. securities.

c) A weaker dollar means that the foreign currency will convert to more dollars.

d) A weaker dollar means that more investors will purchase the foreign security.

e) None of the above.

(d) 27

In order to diversify risk an investor must have investments that that have correlations with other investments in the portfolio that are

a) low positive

b) zero

c) negative

d) any of the above

e) none of the above

(a) 28

Correlations between bond markets in different countries have been changing over time because

a) Countries are developing closer trade and economic links.

b) Countries are becoming more segmented.

c) There are fewer barriers to travel.

d) U.S. investors are purchasing more foreign securities.

e) Correlations between bond markets of different countries have been rising.

(b) 29

Senior secured bonds are

a) The most senior bonds in a firm’s capital structure.

b) Bonds with the lowest risk of default.

c) Bonds that are not backed by specific assets.

d) a) and b).

e) a) and c).

(c) 30

Convertible bonds are bonds

a) That are convertible into more bonds.

b) That are convertible from unsecured to secured status.

c) That are convertible into company stock.

d) That are convertible into specific assets.

e) That have an option attached.

(b) 31

A Eurobond is an international bond

a) Sold by an issuer within its own country in that country’s currency.

b) Denominated in a currency not native to where it is issued.

c) Also known as a Yankee Bond.

d) Is a bond denominated in U.S. dollars but issued by a foreign company.

e) That is sold only to European investors.

MULTIPLE CHOICE PROBLEMS
USE THE FOLLOWING INFORMATION FOR THE NEXT FOUR PROBLEMS


Security



Annual Percentage Return
U.S. government T-bills
3.04

Long-term government bonds
5.75

Long-term corporate bonds
6.80

Large capitalization common stocks
13.50

Small capitalization common stocks
15.60

The annual rate of inflation is 2%.

(c)
1
What is the real return on long-term corporate bonds?

a) 1.02%

b) 3.68%

c) 4.71%

d) 11.27%

e) 13.33%

(a)
2
What is the real return on T-bills?

a) 1.02%

b) 3.68%

c) 4.71%

d) 11.27%

e) 13.33%

(e)
3
What is the real return on small capitalization stocks?

a) 1.02%

b) 3.68%

c) 4.71%

d) 11.27%

e) 13.33%

(d)
4
What is the real return on large capitalization stocks?

a) 1.02%

b) 3.68%

c) 4.71%

d) 11.27%

e) 13.33%

USE THE FOLLOWING INFORMATION FOR THE NEXT FOUR PROBLEMS

Real Returns

INVESTMENT


REAL ANNUAL RETURN

Large company stock



6.50%

Small capitalization stock


8.60%

Long-term corporate bonds


3.60%

Long-term government bonds


2.80%

U.S. Treasury bills



1.03%

The annual rate of inflation is 2.5%

(d)
5
What is the large company stock nominal return?

a) 3.56%

b) 5.37%

c) 6.19%

d) 9.16%

e) 11.32%

(a)
6
What is the T-bill nominal return

a) 3.56%

b) 5.37%

c) 6.19%

d) 9.16%

e) 11.32%

(b)
7
What is the long term Treasury bond nominal return?

a) 3.56%

b) 5.37%

c) 6.19%

d) 9.16%

e) 11.32%

(e)
8
What is the small capitalization stock nominal return?

a) 3.56%

b) 5.37%

c) 6.19%

d) 9.16%

e) 11.32%

(c) 9

A return series has an arithmetic mean of 12.8% and standard deviation of 7.8%. 

Assuming the returns are normally distributed what is the range of returns that an

 investor would expect to receive 90% of the time?  

a) 12.8% to 20.6%  

b) -10.6% to 36.2%

c) -2.8% to 28.4%

d) -12.8% to 20.6%

e) 10.6% to 36.2%

(b) 10

A return series has an arithmetic mean of 12.8% and standard deviation of 7.8%. 

Assuming the returns are normally distributed what is the range of returns that an

 investor would expect to receive 95% of the time?  

a) 12.8% to 20.6%  

b) -10.6% to 36.2%

c) -2.8% to 28.4%

d) -12.8% to 20.6%

e) 10.6% to 36.2%

(c) 11

A return series has an arithmetic mean of 10.5% and standard deviation of 13%. 

Assuming the returns are normally distributed what is the range of returns that an

 investor would expect to receive 95% of the time?  

a) 10.5% to 13%  

b) -2.5% to 23.5%

c) -28.5% to 49.5%

d) -15.5% to 36.5%

e) 0% to 36.5%

(d) 12

A return series has an arithmetic mean of 10.5% and standard deviation of 13%. 

Assuming the returns are normally distributed what is the range of returns that an

 investor would expect to receive 90% of the time?  

a) 10.5% to 13%  

b) -2.5% to 23.5%

c) -28.5 to 49.5%

d) -15.5% to 36.5%

e) 0% to 10.5%

(d) 13

You are trying to decide between a par value corporate bond carrying a coupon 

rate of 6.25% per year and a par value municipal bond that pays an annual coupon

rate of 4.75%. Assuming all other factors are the same and you are in the 28% tax

bracket, which bond should you choose and why?

a) Corporate bond because the after tax yield is 6.25%.

b) Corporate bond because the after tax yield is 4.5%.

c) Municipal bond because the equivalent taxable yield is 6.3%.

d) Municipal bond because the equivalent taxable  yield is 6.6%.

e) You will be indifferent between the two because the after tax yields are the same.

CHAPTER 3
ANSWERS TO PROBLEMS

1

Real return on long term corporate bonds = 4.71% = [(1.068)/(1.02)] - 1

2

Real return on T-bills = 1.02% = [(1.034)/(1.02)] - 1

3

Real return on small cap stocks = 13.33% = [(1.156)/(1.02)] - 1

4

Real return on large cap stocks = 11.27% = [(1.135)/(1.02)] - 1

5

Nominal return on large cap stocks = 9.16% = [(1.065)(1.025)] - 1

6

Nominal return on T-bills = 3.56% = [(1.0103)(1.025)] - 1

7

Nominal return on long term government bonds = 5.37% = [(1.028)(1.025)] - 1

8

Nominal return on small cap stocks = 11.32% = [(1.086)(1.025)] - 1

9

The range of returns is between 12.8 - 2(7.8) and 12.8 + 2(7.8) = -2.8 and 28.4

10


The range of returns is between 12.8 - 3(7.8) and 12.8 + 3(7.8) = -10.6 and 36.2

11


The range of returns is between 10.5 - 3(13) and 10.5 + 3(13) = -28.5 and 49.5

12.

The range of returns is between 10.5 - 2(13) and 10.5 + 2(13) = -15.5 and 36.5.

13.

The municipal bond has an equivalent taxable yield of 0.475/(1 – 0.28)= 0.066. This is higher than the bond yield of .0625.

CHAPTER 3 APPENDIX 
MULTIPLE CHOICE PROBLEMS
USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS


Given the following annual returns for both Alpine Corporation and Tauber Industries:


Alpine's

Tauber's
Year
Rate of Return

Rate of Return
1995
5
9

1996
9
16

1997
11
-16

1998
-10
12

1999
12
9

(a)
1A
Calculate the covariance.


a)
-32.20


b)
-23.32


c)
1.00


d)
23.32


e)
32.20

(b)
2A
Calculate the coefficient of correlation.


a)
-0.456


b)
-0.354


c)
0.000


d)
0.456


e)
3.538

CHAPTER 3 APPENDIX 
ANSWERS TO PROBLEMS
1A

Alpine's average return equals



(5 + 9 + 11 - 10 + 12) ÷ 5 = 27 ÷5 = 5.4



Tauber's average return equals



(9 + 16 - 16 + 12 + 9) ÷ 5 = 30 ÷5 = 6.0



    Alpine
Tauber



(A - Amean)
(T - Tmean)



5 - 5.4 = -0.4
  9 - 6 
= 3




9 - 5.4 = 3.6
16 - 6
= 10



          11 - 5.4 =  5.6
-16 - 6
= -22



         -10 - 5.4 = -15.4
 12 - 6
= 6



          12 - 5.4 = 6.6
   9 - 6
= 3



[A - Amean] x [T - Tmean]




(-0.4) x (3.0)
=    -1.2




 (3.6)
 x (10)
=   36.0




 (5.6) x (-22)
=-123.2



        (-15.4) x (6)
=  -92.4




 (6.6)
 x (3)
=   19.8






-161.00



COVAT =  - 161.00 ÷5 =  -32.20

2A

Using the data from the previous problem



        Alpine                             Tauber
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    (A – Amean)2                      (T – Tmean)2



(5 - 5.4)2    =     0.16
   (9 - 6)2    =     9




(9 - 5.4)2     =    12.96
 (16 - 6)2 
= 100




(11 - 5.4)2  =    31.36
(-16 - 6)2 
= 484




(-10 - 5.4)2 = 237.16
 (12 - 6)2 
=   36




(12 - 5.4)2  =   43.56
   (9 - 6)2 
=     9



Sum    325.2                 Sum      638



(A2 = 325.2 ÷ 5 = 65.04

(2T = 638 ÷ 5 = 127.6



(A = 8.06



(T = 11.30



rA,Y = COVA,T  ÷ (A (T = = -32.20 ÷ (8.06)(11.30) = - 0.354
CHAPTER 4

ORGANIZATION AND FUNCTIONING OF SECURITIES MARKETS
TRUE/FALSE QUESTIONS
(t)
1
A market is a means through which buyers and sellers are brought together to aid in the transfer of goods and/or services.

(f)
2
It is required by law that a stock market must have a physical location.

(f)
3
If transaction prices are volatile, but long-term prices are stable, this is referred to as price continuity.

(t)
4
A continuous market that has price continuity requires depth of buyers and sellers.

(f)
5
A market where prices adjust rapidly to new information is considered to be internally efficient.

(f)
6
Informational efficiency is where the cost of acquiring information is very cheap. 

(f)
7
The primary market is where issues are traded between current and potential owners.

(t)
8
Negotiation, competitive bids, and best efforts are three forms of underwriting arrangements.

(f)
9
A corporation wishing to raise funds will normally want the investment banker to use a "best efforts" arrangement rather than a negotiated basis.

(f)
10
Rule 415, shelf registration, allows large firms to register ten years worth of financing needs all at one time.

(f)
11
Only the stocks of large companies are traded in the primary market.

(t)
12
A good secondary market is important to the efficiency of the primary market.
(t)
13
The NYSE has dominated the other U.S. exchanges in trading volume.

(t)
14
In recent years there has been a trend toward the consolidation of existing exchanges in developed markets, such as London, Frankfurt and Paris.

(t)
15
Listed stocks traded on the over-the-counter market are being traded in the third market.

(t)
16
The over-the-counter market includes all stocks not listed on one of the major exchanges but constitutes a lesser of a dollar value than the New York and American Exchanges combined.

(t)
17
The over-the-counter market lists more stocks than the New York Stock Exchange and the American Stock Exchange combined.

(f)
18
The value of the stocks traded in the over-the-counter market is greater than the combined values of the stocks traded on the New York Stock Exchange and the American Stock Exchange combined.

(f)
19
The Nasdaq National Market System is an order driven market.

(t)
20
Margin transaction involves borrowing part of the cost of an investment.

(f)
21
Short selling is practiced when an investor borrows part of the cost of the investment, e.g., they are “short” on cash.

(f)
22
The NYSE is a dealer market.

(t)
23
Specialists benefit from their exclusive knowledge of the limit order books.

(t)
24
A block house is a brokerage firm that buys and sells blocks of stock for institutions.

(t)
25
The fourth market refers to alternative trading systems such as Electronic Communication Networks and Electronic Crossing Systems.

(t)
26
Super DOT is an electronic order-routing system through which member firms can transmit market and limit orders directly to the posts where the securities are traded.

(t)
27
Global trading has eroded the NYSE's share of the market for NYSE-listed stocks.

MULTIPLE CHOICE QUESTIONS
(d)
1
Which of the following statements about a market is true?


a)
It is not necessary for the market to have a physical location.


b)
The market does not necessarily own the goods or services involved.


c)
A market can deal in any variety of goods and services.


d)
All of the above

e)
None of the above

(e)
2
Which of the following is not a characteristic of a good market for goods and services?


a)
Timely and accurate information


b)
Liquidity


c)
Low transaction costs


d)
External efficiency


e)
All of the above are characteristics of a good market.

(a)
3
Which of the following is not a secondary equity market?   


a)
Treasury market


b)
National exchanges


c)
Regional exchanges


d)
Over-the-counter market


e)
All of the above are secondary equity markets.


(d)
4
Regional exchanges exist because

a) They provide trading facilities for local companies

b) They allow local brokers to trade dual listed stocks

c) They allow for trading of local bonds

d) a) and b)

e) b) and c)

(a)
5
An order that specifies the highest buy or lowest sell price is a



a)
Limit order.



b)
Short sale.



c)
Market order.



d)
Margin call.



e)
Stop loss.

(c)
6
When an investor borrows part of the investment cost it is known as



a)
A short sale.



b)
A fill or kill order.



c)
A margin transaction.



d)
A limit order.



e)
Going long.
(a)
7
Which of the following is not a function of the specialist?


a)
Assists the Federal Reserve in controlling the money supply



b)
Acts as a broker who handles the limit orders or special orders placed with member brokers




c)
Buys and sells securities in order to stabilize the market 

d)
Acts as a dealer in assigned stocks to maintain a fair and orderly market


e)
All of the above are functions of a specialist 

(e)
8
The member of the New York Stock Exchange who acts as a dealer on assigned stocks is known as a



a)
Registered trader.



b)
Commission broker.



c)
Registered broker.



d)
Floor broker.



e)
Specialist.

(d)
9
Floor brokers on the New York Stock Exchange



a)
Use their membership to buy and sell for their own account.



b)
Are employees of a member firm and buy and sell for customers of the firm.



c)
Handle limit and other orders placed by other brokers.



d)
Act as brokers for other members.



e)
Maintain a fair and orderly market.

(c)
10
A block trade is one which involves a minimum of

a) 1,000 shares.

b) 5,000 shares.

c) 10,000 shares.

d) 100,000 shares.

e) 1,000,000 shares.

(b) 11

A central limit order book (CLOB) refers to a system where 

a) All limit orders are electronically matched.

b) All limit orders are visible to the specialist only.

c) All limit orders are visible to markets makers and specialists.

d) Orders are routed through Super Dot.

e) None of the above.

(b) 12

In a call market, trading for individual stocks 

a) Occurs anytime the market is open.

b) Takes place at specific times.

c) Takes place at the open and close of the trading day.

d) All of the above.

e) None of the above.

(e) 13

A pure auction market is one in which

a) Dealers provide liquidity by buying and selling shares of stock for themselves.

b) Dealers compete against each other to provide the highest bid and lowest asking prices.

c) Buyers submit bid prices to sellers.

d) Sellers submit ask prices to buyers.

e) Buyers and sellers submit bid and ask prices to a central location to be matched. 

(a) 14

In a negotiated bid, the underwriter carries out the following service(s) 

a) Origination, risk-bearing, and distribution.

b) Origination and risk-bearing.

c) Risk-bearing and distribution.

d) Origination and distribution.

e) Risk-bearing and distribution. 

(d) 15

Municipal bonds are sold using the following method or methods

a) Competitive bid

b) Negotiated sale

c) Private placement

d) All of the above

e) None of the above   

(d) 16

When a market externally efficient, it means that

a) Timely and accurate information is available

b) The market is liquid

c) Transaction costs are low

d) Prices adjust rapidly to new information

e) The number of buyers and sellers are the same  

(b) 17

When a market is internally efficient, it means that

a) The market has price continuity.

b) The market has minimal transactions costs

c) The market has good depth

d) The market has more buyers than sellers

e) The market has more sellers than buyers

(a) 18

Trading in the secondary markets for U.S. Government and municipal bonds

a) Takes place through a network of primary dealers

b) Takes place over the counter by dealers who buy and sell on their own account

c) Takes place on the NYSE bond annex

d) All of the above

e) None of the above

(e) 19   
Which of the following is an underwriting function?

a) Origination

b) Risk-bearing

c) Distribution

d) Choices b and c

e) All of the above 

 (d) 20  
With a best effort offering, the investment banker performs all of the following roles except:

a) determines the fee paid to themselves for handling the issue.

b) manages the selling group for the new issue.

c) evaluates market conditions and determines the characteristics of the security.

d) guarantees the selling price for the entire issue to the firm issuing the securities.

e) All of the above are true.

(c) 21   
The basic distinction between a primary and a secondary market is     

a) proceeds from sales in the primary market go to the current owner of a security; proceeds in secondary market go to the original owner.

b) primary markets involve direct dealings within regional exchanges.

c) only new securities are sold in the primary market; only outstanding securities are brought and sold in the secondary market.

d) primary markets deal exclusively in bonds; secondary markets deal primarily in common stock.

e) None of the above.

(b)  22

Trading in the secondary markets for Corporate bonds

a) Takes place through a network of primary dealers

b) Takes place over the counter by dealers who buy and sell on their own account

c) Takes place on the NYSE bond annex

d) All of the above

e) None of the above

(a) 23
Secondary markets are important because

a) The prevailing market price of securities is determined in the secondary market

b) It has an impact on price stability

c) It has an impact on price continuity

d) All of the above

e) None of the above

MULTIPLE CHOICE PROBLEMS
USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS

Jackie has a margin account with a balance of $150,000.  If the initial margin deposit is 60 percent and Turtle Industries is currently selling at $50 per share:

(a)
1
How many shares of Turtle can Jackie purchase?



a)
5,000



b)
3,000



c)
1,800



d)
1,200



e)
None of the above

(b)
2
What is Jackie's profit/loss if Turtle’s price after one year is $40?



a)
$50,000



b)
-$50,000



c)
$100,000



d)
-$100,000



e)
None of the above

(d)
3
If the maintenance margin is 25 percent, to what price can Turtle Industries fall before Jackie receives a margin call?



a)
$14.56



b)
$23.17



c)
$32.42



d)
$26.67



e)
None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS

Heidi Talbott has a margin account with a balance of $50,000.  If the initial margin deposit is 50 percent, and RC Industries is currently selling at $50 per share.

(b)
4
How many shares of RC can Heidi buy?



a)
2,500



b)
2,000



c)
1,000



d)
500



e)
None of the above

(c)
5
What is Heidi’s profit if RC’s price rises to $80?



a)
$55,000



b)
$50,000



c)
$60,000



d)
$68,270



e)
$28,570

(d)
6
If the maintenance margin is 25 percent, to what price can RC Industries stock price fall before Heidi receives a margin call?



a)
$21.75



b)
$23.33



c)
$32.00



d)
$33.33



e)
None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS

Kathy Smith has a margin account with a balance of $60,000.  If initial margin requirements are 80 percent, and Jackson Industries is currently selling at $40 per share.

(a)
7
How many shares of Jackson can Kathy buy?



a)
1875



b)
1500



c)
1750



d)
1200



e)
None of the above

(a)
8
What is Kathy's profit if Jackson’s price rises to $50?



a)
$18,750



b)
$15,750



c)
$55,000



d)
$37,750



e)
$28,570

(c)
9
If the maintenance margin is 25 percent, to what price can Jackson Industries fall before Kathy receives a margin call?



a)
$21.75



b)
$23.00



c)
$10.67



d)
$15.93



e)
None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

You decide to sell 100 shares of Davis Industries short when it is selling at its yearly high of $35.  Your broker tells you that your margin requirement is 55 percent and that the commission on the sale is $15.  While you are short, Davis pays a $0.75 per share dividend.  At the end of one year you buy your Davis shares (cover your short sale) at $30 and are charged a commission of $15 and a 6 percent interest rate.

(b)
10
What is your dollar return on the investment?



a)
$130.50



b)
$300.50



c)
$100.00



d)
$1,773.75



e)
$3,500.00

(d)
11
What is your rate of return on the investment?



a)
10.48%



b)
12.87%



c)
13.98%



d)
15.49%



e)
18.87%

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

You decide to sell 100 shares of Topgun Enterprises Inc. short when it is selling at its yearly high of $42.25.  Your broker tells you that your margin requirement is 60 percent and that the commission on the sale is $20.  While you are short, Topgun pays a $0.85 per share dividend.  At the end of one year you buy your Topgun shares (cover your short sale) at $44 and are charged a commission of $20 and a 5 percent interest rate.

(d)
12
What is your dollar return on the investment?



a)
$384.50



b)
$432.88



c)
-$432.88



d)
-$384.50



e)
-$950.55

(e)
13
What is your rate of return on the investment?



a)
10.48%



b)
12.87%



c)
-13.98%



d)
-24.49%



e)
-15.05%

(c)
14
Suppose you buy a round lot of DG Solutions stock on 60% margin when it is selling at $55 a share.  The broker charges a 10 percent annual interest rate and commissions are 3 percent of the total stock value on both the purchase and the sale.  If at year end you receive a $1.10 per share dividend and sell the stock for 55 5/8, what is your rate of return on the investment?

a)
-10.38%

b)
-12.84%

c)
-10.95%

d)
 21.84%

e)
 28.38%

(a)
15
Suppose you buy a round lot of HS Inc. stock on 55% margin when it is selling at $40 a share.  The broker charges a 10 percent annual interest rate and commissions are 4 percent of the total stock value on both the purchase and the sale.  If at year end you receive a $0.90 per share dividend and sell the stock for 35 5/8, what is your rate of return on the investment?



a)
-35.17%



b)
-21.84%



c)
 14.74%



d)
 21.84%



e)
 35.17%

(a)
16
Suppose you buy a round lot of Altman Industries stock on 50% margin when it is selling at $35 a share.  The broker charges a 10 percent annual interest rate and commissions are 5 percent of the total stock value on both the purchase and the sale.  If at year end you receive a $1.00 per share dividend and sell the stock for $42.63, what is your rate of return on the investment?



a)
15.58%



b)
11.84%



c)
14.74%



d)
21.84%



e)
28.38%

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

You decide to sell short 200 shares of XCorp stock at a price of $75. Your margin deposit is 65 percent. Commission on the sale is 1.25%.  While you are short, the stock pays a $1.75 per share dividend. Interest on margin debt is 5.25% per year.

(c)
17

At the end of one year you close out your short position by purchasing share of 

XCorp at $45 per share. The commission is 1.25%. What is your rate of return on

the investment?

a) -55.92%

b) 10.31%

c) 51.06%  

d) 23.1%

e) -33.05%

(a)
18

Suppose at the end of one year XCorp is selling at $90 per share and you cover

your short position at this price. What is your rate of return on the investment?

(Assume a 1.25% commission on the purchase)

a) -40.64%

b) -25.53%

c) 5.21%

d) 72.7%

e) –71.2%

USE THE FOLLOWING INFORMATION FOR THE NEXT FIVE PROBLEMS

Shares of RossCorp stock are selling for $45 per share. Brokerage commissions are 2% for

purchases and 2% for sales. The interest rate on margin debt is 6.25% per year. The maintenance margin is 30%.

(e)
19

At the end of one year shares of RossCorp stock are selling for $55 per share and

the company paid dividends of $0.85 per share. Assuming that you paid the full

cost of the purchase, what is your rate of return if you sell RossCorp stock?

a) 18.08%

b) 23.51%

c) 22.32%

d) 14.96%

e) 19.28%

(b)
20

At the end of one year shares of RossCorp stock are selling for $35 per share and

the company paid dividends of $0.85 per share. Assuming that you paid the full

cost of the purchase, what is your rate of return if you sell RossCorp stock?

a) -33.05%

b) -23.42%

c) 23.42%

d) 33.05%

e) –25.35%

(c)
21

At the end of one year shares of RossCorp stock are selling for $55 per share and 

the company paid dividends of $0.85 per share. Assuming that you borrowed 25%

of cost of the purchase, what is your rate of return?

a) -23.51%

b) 29.35%

c) 23.51%

d) 5.21%

e) 10.06%

(b)
22

At the end of one year shares of RossCorp stock are selling for $35 per share and

the company paid dividends of $0.85 per share. Assuming that you borrowed 25%

of cost of the purchase, what is your rate of return?

a) 33.05%

b) -33.05%

c) -23.51%

d) -25.35%

e) –40.64%

(d)
23

Assume that you purchase 150 shares of RossCorp stock at $45 each by making a margin deposit of 55%. At what price would you receive a margin call?

a) $29.39

b) $26.48

c) $50.39

d) $28.93

e) $50.10

CHAPTER 4

ANSWERS TO PROBLEMS

1
Letting X= total investment, Jackie's share will represent 60 percent.


Thus .60X= $150,000 and X = $150,000 ÷.60 = $250,000.


At $50 per share, she can purchase ($250,000 ÷ $50) = 5000 shares.

2
Profit = (40 - 50)(5000) = -$50,000

3
Margin = (Market Value - Debit Balance) ÷ Market Value, where


Debit Balance = initial loan value = ($250,000 - $150,000) = $100,000

Market Value = Price x Number of Shares = 5000P


Thus 0.30 = (5000P - $100,000) ÷ (5000P)


P = $26.67

4
Letting P = price and Q = quantity of shares,


Heidi's share of the investment will = 50% of PQ.


Thus 0.50PQ = $50,000 and PQ = $50,000 /0.50 = $100,000


( At $50 per share, she can purchase ($100,000 ÷ $50) = 2000 shares.

5
Profit = (80 - 50)(2000) = $60,000

6
Margin = (Market Value - Debit Balance) ÷ Market Value, where


Debit Balance = initial loan value = ($100,000 - $50,000) = $50,000


Market Value = Price x Number of Shares = 2000P


Thus 0.25 = (2000P - $60,000) ÷ (2000P)


P = $33.33

7
Letting P = price and Q = quantity of shares,


Kathy's share will represent 80% of PQ.


Thus 0.80X = $60,000 and X = $60,000 ÷ .80 = $75,000.


( At $40 per share, she can purchase ($75,000 ÷ $40) = 1875 shares.

8
Profit = (50 - 40)(1875) = $18,750

9.
Margin = (Market Value - Debit Balance) ÷ Market Value, where


Debit Balance = initial loan value = ($75,000 - $60,000) = $15,000


Market Value = Price x Number of Shares = 1875P


Thus 0.25 = (1875P - $15,000) ÷ 1875P


P = $10.67

10.
Profit = $3500 - $3000 - $75 - $15 - $15 – (1 – 0.55)(3500)(0.06) = $300.50

11.
Rate of Return = Profit ÷ Initial Investment  


Initial investment = (.55 x $3500) + $15 = $1,940


( Rate of Return = $300.50/$1,940 = 15.49%

12.
Profit = $4225 - $4400 - $85 - $20 - $20 – (1-0.60)(4225)(0.05) = -$384.50

13.
Rate of Return = Profit ÷ Initial investment 


Initial investment = (0.60 x $4225) +20 = $2,555


( Rate of Return = -$384.50/$2,555.00 = -15.05%

14.
Rate of Return = Profit ÷ Initial investment


Profit = Total Return - Initial Stock Value - Transaction Costs -Interest


Total Return
= Ending Market Value + Dividend Value




= $5,562.50 + $110.00 = $5,672.50


Initial Stock Value = 100($55) = $5,500.00


Transaction Costs = (0.03)(5,500) + (0.03)(5,562.50) = $331.86


Interest = (0.10)(0.40)($5,500) = $220.00


( Profit = $5,672.50 - $5,500.00 - $331.86 - $220.00 = -$379.36


Initial investment
= Margin deposit + Commission





= (0.60)($5,500.00) + (0.03)($5,500.00) = $3,465


( Rate of Return = -$379.36/$3,465 = -.10948 = -10.95%

15.
Rate of Return = Profit ÷ Initial investment


Profit = Total Return - Initial Stock Value - Transaction Costs -Interest


Total Return
= Ending Market Value + Dividend Value




= $3562.50 + $90= $3652.50


Initial Stock Value = 100($40) = $4000


Transaction Costs = (0.04)(4000 + (0.04)(3562.50) = $302.50


Interest = (0.10)(0.45)($4000) = $180.00


( Profit = $3652.50 - $4000 - $302.50 - $180.00 = - $830.00


Initial investment
= Margin deposit + Commission





= (0.55)($4,000) + (0.04)($4,000) = $2,360


( Rate of Return = - $830.00/$2360 = -0.3517 = -35.17%

16.
Rate of Return = Profit ÷ Initial Investment


Profit = Total Return - Initial Stock Value - Transaction Costs - Interest


Total Return
= Ending Market Value + Dividend




= $4263 + $100 = $4363


Initial Stock Value = 35(100) = $3,500.00


Transaction Costs = .05 x 3,500 + (0.05)(4,263) = $388.15


Interest = (0.10)(0.50)($3,500) = $175.00


( Profit = $4,363 - $3,500 - $175.00 - $388.15 = $299.85


Initial investment
= Margin deposit + Initial investment





= .50 x $3,500 + .05 x $3,500 = $1,925


( Rate of Return = $299.85/$1,925 = 15.58%

17. 
Rate of return = [75-45-0.9375-0.5625-1.75-



(1-.65)(75)(.0525)]/[(.65)(75)+0.9375] =51.06%

18.  
Rate of return = [75-90-0.9375-1.125-1.75-



(1-.65)(75)(.0525)]/[(.65)(75)+0.9375] =-40.64%

19.  
Rate of return = [55-45+0.85-1.10-0.90]/[45+0.90] = 19.28%

20.  
Rate of return = [35-45+0.85-0.70-0.90]/[45+0.90] =-23.42%

21.  
Rate of return = [55-45+0.85-1.10-0.90-



(1-.75)(45)(.0625)]/[(0.75)(45)+0.90] = 23.51%

22. 
Rate of return = [35-45+0.85-0.70-0.90-



(1-.75)(45)(.0625)]/[(0.75)(45)+0.90] = -33.05%

23.  
0.30 = [(150)(P) – (0.45)(150)(45)]/[(150)(P)]


P = $28.93

CHAPTER 5

SECURITY MARKET INDICATOR SERIES
TRUE/FALSE QUESTIONS
(t)
1
The general purpose of a market indicator series is to provide an overall indication of aggregate market changes or movements.

(t)
2
An aggregate market index can be used as a benchmark to judge the performance of professional money managers.

(f)
3
A price weighted series is disproportionately influenced by larger capitalization companies.

(f)
4
The Dow Jones Industrial Average is a value weighted average.

(t)
5
A two for one stock split causes the divisor in a price-weighted series to decline.

(t)
6
The Dow Jones Industrial Average has been criticized for being blue-chip biased.

(f)
7
Unlike the Dow Jones Industrial Average, the Nikkei-Dow Jones Average is price weighted.

(t)
8
A value weighted index automatically adjusts for stock splits.

(f)
9
The New York Stock Exchange Index is based on a sample of all of the New York Stock Exchange stocks.

(t)
10
An equally weighted indicator series is also known as an unweighted indicator series.

(f)
11
Bond-market indicator series have been around much longer than stock-market indicator series.

 (f)
12
It is easier to construct an indicator series for bonds because of their relatively stable returns pattern.

(t)
13
The major U.S. stock indexes are highly correlated.

(t)
14
To solve comparability problems across countries, global equity indexes with consistent sample selection, weighting and computational procedure have been developed.

(f)
15
There are no composite series currently available that will measure the performance of all securities (i.e. stocks and bonds) in a given country.

(f)
16
The NYSE series should have higher rates of return and risk measures than the AMEX and OTC series.

(t)
17
There is a high correlation between the Wilshire 5000 index and the alternative NYSE series (S&P 500 and the NYSE), representing the substantial influence of large NYSE stocks on the Wilshire 5000 index.

(t)
18
The low correlations between the U.S. and Japan, confirm the benefit of global diversification.

(t)
19
The correlations among the U.S. investment-grade-bond series were very high because all rates of return for investment-grade bonds over time are impacted by common macroeconomic variables.

MULTIPLE CHOICE QUESTIONS

(e)
1

Which of the following is not a use of security market indicator series?



a)
To use as a benchmark of individual portfolio performance



b)
To develop an index portfolio



c)
To determine factors influencing aggregate security price movements



d)
To use in the measurement of systematic risk



e)
To use in the measurement of diversifiable risk

(a)
2

A properly selected sample for use in constructing a market indicator series will consider the sample's source, size and



a)
Breadth.



b)
Average beta.



c)
Value.



d)
Variability.



e)
Dividend record.

(a)
3
In a price weighted average stock market indicator series, the following type of stock has the greatest influence

a) The stock with the highest price

b) The stock with the lowest price

c) The stock with the highest market capitalization

d) The stock with the lowest market capitalization

e) The stock with the highest P/E ratio

(a)
4
What effect does a stock substitution or stock split have on a price-weighted series?




a)
Index remains the same, divisor will increase/decrease.




b)
Divisor remains the same, index will increase/decrease.




c)
Index and divisor will both remain the same.




d)
Index and divisor will both reflect the changes (immediately).




e)
Not enough information is provided.

(b)
5

Which of the following is not a value-weighted series?




a)
NASDAQ Industrial Index




b)
Dow Jones Industrial Average




c)
Wilshire 5000 Equity Index




d)
American Stock Exchange Series




e)
NASDAQ Composite Index

(c)
6

An example of a value weighted stock market indicator series is the



a)
Dow Jones Industrial Average.



b)
Nikkei Dow Jones Average.



c)
S & P 500 Index.



d)
Value Line Index.



e)
Shearson Lehman Hutton Index.

(c)
7

In a value weighted index 



a)
Exchange rate fluctuations have a large impact.



b)
Exchange rate fluctuations have a small impact.



c)
Large companies have a disproportionate influence on the index.



d)
Small companies have an exaggerated effect on the index.

e) None of the above

(e)
8
Of the following indices, which includes the most comprehensive list of stocks?



a)
New York Exchange Index



b)
Standard and Poor’s Index



c)
American Stock Exchange Index



d)
NASDAQ Series Index



e)
Wilshire Equity Index

(d)
9
The Value Line Composite Average is calculated using the _______ of percentage price changes. 



a)
arithmetic average



b)
harmonic average



c)
expected value



d)
geometric average



e)
logarithmic average

(d)
10
Which of the following is not a global equity indicator series?




a)
Morgan Stanley Capital International Indexes




b)
Dow Jones World Stock Index 




c)
FT/S & P-Actuaries World Indexes




d)
Merrill Lynch-Wilshire World Indexes


e)
None of the above (that is, each is a global equity indicator series)

(a)
11
The Ryan Treasury Index is an example of a 



a)
Bond market indicator series.



b)
Stock market indicator series.



c)
Composite security market series.



d)
World market series.



e)
Commodity market series.

(b)
12
Studies of correlations among monthly equity price index returns have found:

a) Low correlations between various U.S. equity indexes

b) High correlations between various U.S. equity indexes

c) High correlations between U.S. and non-U.S. equity indexes

d) Negative correlations between various U.S. equity indexes

e) None of the above

(a)
13
Which of the following is true of the various market index series?



a)

A low correlation exists between the U.S. indexes and those of Japan.



b)
The NYSE series have higher rates of return and risk measures than the AMEX and OTC series.



c)
A low correlation exists between alternative series that include almost all NYSE stocks.



d)
A low correlation exists between alternative bond series.



e)
None of the above

(e) 14            Which of the following are factors that make it difficult to create and maintain a bond index?

a) The universe of bonds is broader than stocks.

b) The universe of bonds is constantly changing due to new issues, bond maturities, calls, and bond sinking funds.

c) It is difficult to derive value, up-to-date prices.

d) Choices a and c

e) All of the above

(e) 15
Which of the following is not a U.S. investment-grade bond index?

a) Merrill Lynch 

b) Ryan Treasury 

c) Salomon Brothers 

d) Lehman Brothers 

e) None of the above (that is, all are U.S. investment-grade bond indexes)

(d) 16

The following are examples of Style Indexes

a) Small-cap growth

b) Mid-cap value

c) Small-cap value

d) All of the above

e) None of the above

(a)
17
Studies of correlations among monthly U.S. bond price index returns have found:

a) Low correlations between investment grade bonds and high yield bonds

b) High correlations between investment grade bonds and high yield bonds

c) Low correlations between various investment grade bond indexes

d) Negative correlations between investment grade bonds and high yield bonds

e) None of the above
MULTIPLE CHOICE PROBLEMS
USE THE FOLLOWING INFORMATION FOR THE NEXT THREE PROBLEMS


Number of shares
Closing Prices
(per share)


Companies
outstanding
Day T
Day T + 1

1
2,000
$30.00
$25.00


2
7,000
55.00
60.00


3
5,000
20.00
25.00


4
4,000
40.00
45.00

(a)
1
Assume that a stock price-weighted indicator consisted of the four issues with their prices.  What are the values of the stock indicator for Day T and T + 1 and what is the percentage change?    

a) 36.25, 38.75, 6.9%

b) 38.75, 36.25, -6.9%

c) 100, 106.9, 6.9%

d) 107.48, 106.33, 1.15%

e) None of the above

(c)
2
For a value-weighted series, assume that Day T is the base period and the base value is 100.  What is the new index value for Day T + 1 and what is the percentage change in the index from Day T?

a) 106.33, 6.33%

b) 107.48, 7.48%

c) 109.93, 9.93%

d) 108.7, 8.7%

e) None of the above

(d)
3
Compute an unweighted price indicator series, using geometric means.  What is the percentage change in the index from Day T to Day T+1. Assume a base index value of 100 on Day T. 

a) 5.35%

b) 7.48%

c) 9.93%

d) 6.33%

e) None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT TEN PROBLEMS



Stock Price
# Shares


X
Y
Z
X
Y
Z


Jan. 13, 2005
20
40
30
1000
2000
1000*

Jan. 14, 2005
25
42
18
1000
2000
2000

Jan. 15, 2005
27
45
8
1000**
2000
2000

Jan. 16, 2005
20
40
10
3000
2000
2000

*2:1 Split on Stock Z after Close on Jan. 13, 2005

**3:1 Split on Stock X after Close on Jan. 15, 2005



The base date for index calculations is January 13, 2005

(b)
4

Calculate a price weighted average for January 13th.

a) 32

b) 30

c) 36.13

d) 34

e) None of the above

(b)
5

What is the divisor at the beginning of January 14th?

a) 3.0

b) 2.5

c) 2.2734

d) 1.9375

e) None of the above

(d)
6

Calculate a price weighted average for January 14th.

a) 32

b) 30

c) 36.13

d) 34

e) None of the above

(c)
7

Calculate a price weighed average for January 15th.

a) 30

b) 36.13

c) 32

d) 34

e) None of the above

(a)
8

What is the divisor at the beginning of January 16th?

a) 1.9375

b) 3.0

c) 2.5

d) 2.2734

e) None of the above

(d)
9

Calculate a price weighted average for January 16th.

a) 30

b) 32

c) 34

d) 36.13

e) None of the above

(b)
10

Calculate a value weighted index for Jan. 13th if the initial index value is 100.

a) 111.54

b) 100

c) 102.31

d) 123.07

e) None of the above

(d)
11

Calculate a value weighted index for Jan. 14th if the initial index value is 100.

a) 100

b) 102.31

c) 123.07

d) 111.54

e) None of the above

(a)
12

Calculate a value weighted index for January 15th if the initial index value is 100.

a) 102.31

b) 100

c) 123.07

d) 111.54

e) None of the above

(a)
13

Calculate a value weighted index for January 16th if the initial index value is 100.

a) 123.07

b) 100.00 

c) 102.31

d) 111.54

e) None of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS



  Year

% Price Change for GB Industries
2000
10.0%

2001
12.0%

2002
10.0%

2003
11.0%

2004
  6.0%

(b)
14

Calculate the average annual rate of change for GB Industries for the 5 year period using the arithmetic mean.

a)   0.098%

b)   9.80%

c)   8.50% 

d)   8.00%

e) 89.00%

(a)
15

Calculate the average annual rate of change for GB Industries for the 5 year period using the geometric mean.

a) 9.7800%

b) 0.0978%

c) 9.0700%

d) 0.0970%

e) 3.6400%

USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS

Year

% Price Change for Stock Index
2000
   8.0%

2001
 10.0%

2002
-14.0%

2003
 20.0%

2004
-10.0%

(c)
16

Calculate the average annual rate of change for this index for the 5 year period using the arithmetic mean.



a)
0.28%



b)
1.28%



c)
2.80%



d)
3.58%



e)
6.38%

(b)
17

Calculate the average annual rate of change for this index for the 5 year period using the geometric mean.



a)
0.09%



b)
1.99%



c)
3.99%



d)
4.50%



e)
4.67%

USE THE FOLLOWING INFORMATION FOR THE NEXT 12 PROBLEMS      

	 
	31-Dec-03
	31-Dec-03
	31-Dec-04
	31-Dec-04

	Stock
	Price
	Shares
	Price
	Shares

	W
	 $   75.00 
	10000
	 $   50.00 
	20000

	X
	 $ 150.00 
	5000
	 $   65.00 
	10000

	Y
	 $   25.00 
	20000
	 $   35.00 
	20000

	Z
	 $   40.00 
	25000
	 $   50.00 
	25000



Stocks W and X had 2 for 1 splits after the close on Dec 31, 2003.

(c) 18

Calculate the price weighted series for Dec 31, 2003, prior to the splits.

a) 81.69

b) 100.0

c) 72.5

d) 121.25

e) 119.25

(a) 19

Calculate the price weighted series for Dec 31, 2003, after the splits.

a) 72.5

b) 100.0

c) 119.25

d) 121.25

e) 81.69

(e) 20

Calculate the price weighted series for Dec 31, 2004.

a) 121.25

b) 119.25

c) 100.0

d) 72.5

e) 81.69

(a) 21

Calculate the percentage return in the price weighted series for the period Dec 31, 

2000 to Dec 31, 2004.

a) 12.68%

b) 20.00%

c) 21.76%

d) 33.33%

e) 40.00%

(d) 22

Calculate the value weighted index for Dec 31, 2003, prior to the splits. Assume a



 base index value of 100. The base year is Dec 31, 2003.

a) 120.0

b) 81.69

c) 72.5

d) 100.0

e) 121.25

(c) 23   
Calculate the value weighted index for Dec 31, 2003, after the splits. Assume a 

base index value of 100. The base year is Dec 31, 2003.

a) 72.5

b) 81.69

c) 100.0

d) 120.0

e) 121.25

(e) 24   
Calculate the value weighted index for Dec 31, 2004. Assume a base index value

of 100. The base year is Dec 31, 2003.

a) 121.25

b) 100.0

c) 81.69

d) 72.5

e) 120.0

(b) 25   
Calculate the percentage return in the value weighted index for the period Dec 31, 

2003 to Dec 31, 2004.

a) 12.68%

b) 20.00%

c) 21.76%

d) 33.33%

e) 40.00%

(a) 26   
Calculate the unweighted index for Dec 31, 2003, prior to the splits. Assume a 

base index value of 100. The base year is Dec 31, 2003.

a) 100.0

b) 200.0

c) 150.0

d) 120.0

e) 175.0

(c) 27   
Calculate the unweighted index for Dec 31, 2003, after the splits. Assume a base

index value of 100. The base year is Dec 31, 2003.

a) 110.0

b) 200.0

c) 100.0

d) 120.0

e) 150.0

(a) 28    
Calculate the unweighted index (geometric mean) for Dec 31, 2004. Assume a 

base index value of 100. The base year is Dec 31, 2003.

a) 119.25

b) 121.25

c) 151.25

d) 95.25

e) 100.25

(a) 29   
Calculate the percentage return in the unweighted index (geometric mean) for the

period Dec 31, 2003 to Dec 31, 2004. Assume a base index value of 100. Base

year is Dec 31, 2003.

a) 19.25%

b) 21.25%

c) 51.25%

d) 5.25%

e) 100.25%

CHAPTER 5

ANSWERS TO PROBLEMS

1




Closing Prices
(per share)


Companies
Day T
Day T + 1

1
30.00
25.00


2
55.00
60.00


3
20.00
25.00


4
40.00
45.00



4 145
4 155


36.25
 38.75

Therefore the index closed up 38.75/36.25 – 1 = 6.9%

2                  




Number of shares
Price


Companies
outstanding
Day T
Market value

1
2,000
30.00
60,000


2
7,000
55.00
385,000


3
5,000
20.00
100,000


4
4,000
40.00
160,000




705,000

Base value equal to an index of 100



Number of shares
Price


Companies
outstanding
Day T + 1
Market value

1
2,000
25.00
70,000


2
7,000
60.00
420,000


3
5,000
25.00
125,000


4
4,000
45.00
180,000




775,000


Therefore the index closed up 9.93%

3



Price
Price



Companies
Day T
Day T+1

(1 + return)


1
30
25

0.83


2
55
60

1.09


3
20
25

1.25


4
40
45

1.125




Index value day T+1 =[ (0.83)(1.09)(1.25)(1.125)]1/4 (100) = 106.33




Percentage change in index = 6.33%

4

January 13 index = (20 + 40 + 30) ÷ 3 = 30

5

January 14 adjusted divisor = (20 + 40 + 15) ÷ X = 30


X = 2.5

6

January 14 index = (25 + 42 + 18) ÷ 2.5 = 34

7

January 15 index = (27 + 45 + 8) ÷ 2.5 = 32

8

January 16 divisor = (9 + 45 + 8) ÷ X = 32


X = 1.9375

9

January 16 index = (20 + 40 + 10) ÷ 1.9375 = 36.13

10

January 13 index = 100 by definition

11

Base Value = (20)(1000) + (40)(2000) + (30)(1000) = $130,000


January 14 Value = (25)(1000) + (42)(2000) +  (18)(2000) = 145,000


Index = (145,000 ÷ 13035,000) x 100= 111.5385

12

January 15 Value = (27)(1000) + (45)(2000) +  (8)(2000) = 133,000


Index = (133,000 ÷ 130,000) x 100= 102.3077

13

January 16 Value = (20)(2000) + (40)(2000) +  (10)(2000) = 160,000


Index = (160,000 ÷ 130,000) x 100= 123.0769

14
 
The Arithmetic Average is: (10 + 12 + 10 + 11 + 6) ÷ 5 = 9.8%

15

The Geometric Average is: [(1.10)(1.12)(1.10)(1.11)(1.06)]1/5 - 1 = 9.78%

16

The Arithmetic Average is: (8 + 10 - 14 + 20 - 10) ÷ 5 = 2.8%

17

The Geometric Average is: [(1.08)(1.10)(.86)(1.20)(.9)]1/5 - 1 = 1.99%

18

Price weighted series Dec 2003 = (75 + 150 + 25 + 40)/4 = 72.5

19

Post split series = 72.5 = (37.5 + 75 + 25 + 40)/X

The new divisor, X = 2.4483.

20  

Price weighted series Dec 2004 = (50 + 65 + 35 + 50)/2.4483 = 81.69

21

Return on series = (81.69 – 72.5)/72.5 = 12.68%

22

Value weighted series Dec 2003 =
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23

Value weighted post split = 100. Not affected by splits.

24

Value weighted series Dec 2004 =
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25  

Since the base value is 100 and the current index value is

120, the percentage return is 20%.

26

The index value Dec 2003 is 100

27

Post split the index value is 100

28  

 Index Dec 2004 = (1.33 + 0.87 + 1.40 + 1.25)1/4 (100) = 119.25

29

The return on the index is 19.25%

� EMBED Equation.3  ���
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